Calculus I, 21-111
Test 1
February 16

Nam¢
Recit: tion (circle yours): Klobusicky (TR Q:SO) Moéin (TR 32305
Note No calculators or any electronic devices of any sort are allowed. Show

all we k necessary to obtain your answers. No credlt will be given for ‘answers
witho ¢ justification.

1. 20 points) Let f(x) = 722 + 5z — 3,9(z) = 2/z,h(z) = 7,j(z) = 57
jive a smphﬁed expressxon for each of the fol]owmg
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2. (1. points) Find the derivative of the function f(z) = 2% — 4z + 1 directly
frc u the definition.
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-3. { ! points) Match the graphs of the five functions A-E given below with
t, wir derivatives a-e. Explain your reasoning for one of the matches. You

1 x:d not explain every one.
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4. 15 points) Curtis runs along a straight path. His distance traveled (in
: weters) as a function of time (in seconds) p(t) is graphed below, along

* rith the line tangent to the graph at t = 4.
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{a) How far has he gone after 6 seconds?
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b) What is his average velocity over the first four seconds?
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{z) What is his instantaneous velocity after 4 seconds?

=3

- 3 so oge of hua. L

6

b

M/()(

Prawivg poov, 5o ony anéues
Miwing The( 1dea 9eh credit

d) Is he going faster when ¢t = 2 or when t = 5? Why?
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{e) Is p"(3) positive or negative? Why?
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5. 15 points) Let f(x) = 2z°+ 422 — z — 1. Find all points of the graph of
" at which the slope is —1. Give the equation for the tangent line at one

- the points in y = mz + b form,
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6. | 1) points) Let f(z) = 23 — 622 + 9z + 5. Sketch its graph. Label all
1 wximums, minimums, and points of inflection.
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